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Solve the following problems :

1. A basketball player has a free-throw shooting percentage of 85%.
If he attempts 20 free throws in a game, how many does he make

on average?

If 40 is 30% of a number then what is the 60% of that number.
60% of 500 =
40 is % of 200

Find the number whose 20% is 80.

The number 12 is what percent of the number 60.
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If 11% of the tomatoes in the basket are spoiled and 267
tomatoes are in good condition, what is the total number of
tomatoes in the basket?

8. A bookstore offers a 15% discount on all books during a sale. If
you buy three books originally priced at $20 each, how much do
you pay after the discount?

9. A jewelry store marks up the price of a diamond ring by 50%. If
the ring costs $5,000 after the markup, what was its original
price?

10. Which of the following is 40% of 500.
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